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Correct Option selected Wrong Option selected or Not Answered Correct Option

Q.No: 1 Dandiya Dance is related to which of the following states? sifean T Fofafed § ¥ frg T 9 el &2
A Karnataka Ffes E
B Uttar Pradesh IR WA
C Maharashtra %TTE
D Gujarat orTd
Q.No: 2 Z:ealll-j\Llllcgziricsrtis;ion is associated with which of the following rulers of ‘Www oy 3 rfaiae 79 ﬁww%ma%?
A Pulakeshin II qasiRe fadia
B Krishna I P UYH
[ Vikramaditya faspmiea
D Rajrajeshwar I | TR TUH
Q.No: 3 Wrong statement about UPL is UPL ¥ 9R & Tad %97 §
A It was approved on 11 April 2016 - 39 11 3 2016 F! Wipa foar mar AT
B It is developed by National Payments Corporraticrm of India T MR PR A e g AR fear g
C f:;i:ymobile platform based interface to quickly transfer T mw mm%ﬁﬁﬁﬁﬂﬁ W@WW%
D It's full form is Uniform Payment Interface ENEY Eﬂf = ?Iﬁ'qfl"lf e gexba §
Q.No: 4 Choose the incorrect statement regarding the Mauryan Empire. o qorg & oy B Tad HYT BT T4 B
A The provinces were divided into districts called Janpadas. wial @1 el § fvnim fear war a1 {58 S=ue 81 Srar Uil
B The empire was highly de-centralised. g lef‘wﬁ%‘sﬁﬁ U1l
C Gandhara was a province of the empire. TMYR AIHST BT TF Tid 4Tl
D Head of the province was called 'Kumar' or 'Aryaputra’. Wi & GRAaT B "GAR” AT "I FgT e ATl
Q.No: 5 When was the Enhanced Access and Service Agenda for Public Sector ﬂ'l?f\_rfﬁ? P}Eﬁ? e !EASE )
Banks (EASE) launched? ) SoE UGS Wl TSiST 31 URY He o T
A 2020 2020
B 2010 2010
C 2018 2018
D 2008 2008
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I U WY H AT oo B o TH §1 36T [ 0l gof TS S wHt

Q.No: 6 Which of the following is a type of folk dance? Profifea # ¥ B 91 9% T B T UPR 8?2
A Kuchipudi plagst

B Sattriya Har

C Bharatnatyam YIdATSTH

D Bihu g

Q.No: 7 Sonal Mansingh is a famous mem %I

A Classical Singer RAN TaH

B Astrologer Soifadt

C Classical Dancer TR TID

D Painter IEECTN

Q.No: 8 Non Scheduled Banks are those banks- ‘ﬁ? 313?1@!?1’ YFITFE -

A They are not nationalised ‘a waEd T8 §

B Their name is not in mentioned in II Schedule of RBI Act, 1934. IT M AREeTS S, 1934 Ft g gt # sffaa T8 81
C Their headquarters are outside India ‘GW TRETAT YR & TR &

D They are nationalised ‘ 3 T@W g

Q.No: 9 Who has become the 24™ Chief Election Commissioner of India? URd & 249 FBI TG SMYH B 5 §2

A Sushil Chandra Riter g

B Mohit Agrawal Hifgd srrara

C Ajay Thakur 3oy 3TPT

D Aman Purohit 3T RIfRd

Q.No: 10 Which of the following statements is incorrect about NABARD ?

A It's headquaters are in Mumbai
B It was established under the Seventh Five-year plan
C NABARD was established in 12 July 1982
D It provides credit facility for the promotion and development of
agriculture
Which of the following rulers in Mughal empire was known by the
Q.No: 11 o s
name of ‘Rangila’?
A Shah Alam II
B | Farrukhshiyar
C Mohammad shah
D ‘ Jahandar shah

Q.No: 12  Who among the following is related to Kathak dance style in India?

A

B
C
D

Laxminarayan
Rukmini Devi
Birju Maharaj

Muthuswami

NABARD & aR ¥ Faffed & € & W1 Fu 7o 82
ST gEIad 4as # 3

39 Tadl YaaiTg G & dgd Rifa fear T 0
NABARD ! RITUAT 12 FaTs 1982 & g3 A

g P & TR 3R e & e B gy yer war @

‘ﬁuﬁf@ﬁﬁ@mwaﬁwwﬁ@ﬂw%w@mmw

XM 3{TeH I
EERER
Higwig 6
| STgieR e

Pofafed # ¥ S YR $UE T el I YT 72
aEHRTI

it i

fore] weRTS

Tyt
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Which of the following personalities was selected by Gandhi as the first

o # ¥ fra affae @i mied g)1 af 1940 & e ifgws sicier & uga

Q-No: 13| gividual Satyagrahi in a nonviolent movement in the year 1940? G TATIE! & =0 H AT 747 U1?
A Vinoba Bhave [CRICIRNE
B Valmiki qreifs
C T. Prakasam & yeTITH
D Jainul Abdin g |
Q.No: 14 Who is the author of the book titled Zohra! A Biography in Four Acts?  IgRT: T SRIRTW! 9 BR T9cH AHF [WIS & TGS $H 87
A Ritu Menon g o=
B Amitabh Ghosh SfftraTH Ty
C Arundhati Roy 3rvufa 3T N
D vikram Seth fawa d
Q.No: 15 | The wrong statement about the Slave dynasty is- AW 92 & SR B Tad HUF 8-
A Qutubuddin Aibak was the founder of Slave dynasty. FYIE TTP AT I BT TRITS AT
B The slave dynasty started in 1206. TATH 9 & e 1206 § §'§ Uil
C The last ruler of slave dynasty was Nasir-ud-din Mahmud Shah. T<TH 9% &1 3ifas TaE RIR-33-47 HEHg Mg U1
D The early rulers of slave dynasty were called Mamluk sultans.  TdTH 9=1 % ORI ARIRT B ARIGS GeaTT HgT Sl AT
QNO: 16 e o andl baundag by the feabion Sea? | o o S e e @ s it R e e v A0 2
A Gujarat RIGRIGH
B Rajasthan RIS
(¢] Uttar Pradesh G?R SR
D Kerala ko
Q.No: 17 Where does the Luni River end after it leaves the Pushkar Valley? g °1el & Reas & a1. it ol Hel SHI B 87
A Caspian sea M IR
B Arabian Sea SRY AR
C Mount Abu o ST 31,
D Rann of Kutch HT B 0T
Q.No: 18 Mohiniyattam dancers conventionall& wear _____color sari. Oifgfeey 7 IRIRF ST __ W1 31 Il ugd 1
A Off-white Jip-gTge (Yfre Tawe)
B ‘ Green 3:%
c | Pink Taret
D 'Red GlG)
Which river originates in the ‘Rakshas tal’ near Mansarovar at an altitude  fds5d # 4,555 Hiex 31 SO R IFRRIR $ U &G dra T i I 7
Q:Noz 13 of 4,555 m in Tibet where it is known as Langchen Khambab ? Fiperd B, Sigi 38 R Tag & 1H 9 ST S 82
A Satluj gl
B Indus Riy
G Beas EL)
D Ravi |t
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Which of the following is credited for the political
Q.No: 20 |integration of over 500 princely states into the TWdd YR ¥9 H 500 ¥ 3% Rargal & IeHifae Teieu 31 41 Faiifed § ¥ 58 fean S 82

independent Indian Union?

A Lala Lajpat Rai CIGIGIG RG]

B 7 Nirad C. Chaudhuri Hive @ Dud

c | Milkha Singh forea fig

D Sardar Vallabhbhai Patel WER TAWHTS TeaT

A in th h’ h h which th | ial : 3
Q.No: 21 vent in the earth’s crust through which the molten material erupts out H@Hﬁqﬁﬁwaﬁﬁlﬂ%mmﬁﬁﬁW@&nwﬁWﬁWﬁ%

is -

A Tsunami At

B Catastrophe 3{Tagr

C Earthquake yH

D Volcano Wl?lTﬂttﬂ
Ron observed some features of the

I animal possessing feathers covered body and M A T F 09 a1 TR B $E [IR9ad IR A ga! gl § SR WA F o 1 v o aea fon o §1

Q-No: front limbs are modified into wings. Help Ron 3 B 98 U A & Heg B1 & 98 SR 69 ol a1 82
infer that to which class this animal belongs?

A Aves '@ﬁﬁ'

B mammals ESEin

C reptiles Wy

D fishes Tl

Q.No: 23 Name the fungus growing mostly on pickles during summer season? THf & A # 3R R ST 9 B o1 919 Sargal

A Neurotoxins m_—\q

B bT toxins < faures ugrd
C Exotoxins T

D Mycotoxins qgHieieq

I YUY R YD § TR g5 B S qBT 81 376 Y: MU ool ATeT BT AT wPpAAT

Q.No: 24 Digestion of food is an example of . IS &1 grad BT ISR 7

A Irreversible change srufyad=ha ufvad

B Chemical change IMfE TRadd

C Physical chénge 7 ) B WNfrw TRadq

D Reversible change uRad-g ufvada

Q.No: 25 | — rainz.md ______aretwo gases present in polluted air which can cause R _ whaead Ae AT 2 S ol ast o HRO T TEd B
A Sulphur dioxide and Nitrogen dioxide TeH STSATHIES 3R ATScior SEsiieEs
B Sulphur dioxide and carbon dioxide TR STESHHIES SR BT STeiiass

C Carbon dioxide and Nitrogen dioxide ng's'\?{m%g Gﬁ?’ﬂﬁaﬁq m&ﬁﬂﬂﬁ%’
D Carbon monoxide and Nitrogen dioxide HIET HFISAFTES 3R ATge IS SRaiEs
Q.No: 26 The blue revolution was implemented to conserve what? Hieft wifar fpads TRemn & ﬁ‘l’Qﬂ'ﬂla%TTi; 4

A Ocean gs

B Water LIE)

C Fishes and their derivatives Tofat ok 3% Sfafea
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D Gasoline el
is a group of living organisms comprising similar Sifqd Sitdl &1 Te RS % oo gum Jafeas i G % il
Q-Noz 27 individuals capable of interbreeding and producing fertile offspring. TRER U 3R IUSTS, T Ue H3 T Fei 81 ¢
A Fauna g-sig
B Abiotic st
C Biotic CitEg
D Species It
Q.No: 28 Why gymnosperm is called so? o] 3t QFT Y FeT S %?
A they possess simple leaves IIP U YR O ?
B they possess single celled species. ISP TN b HHRrepT arelt serfeat %'I
C they possess showy flowers 39 U femradt B %
D They possess naked seed. I U T ?I
Q.No: 29 | Which of the following nitrates is used in photography? Fofefaa § 9 S 1 T5de Bermw! ¥ Iuhi fEar S 82
A Aluminium SregHtAa
B Sodium wfsan
C Silver wigt
D Magnesium AHREH

T VY TR YF F STURT &S BT 7 Gt 31 31 T: AR ot AET B 5wt

Direction: The following question consists of two
statements one labeled as " Assertion” and the
other as "Reason”. You have to examine these two
statements carefully and select the correct answer

to the question from the given options.
Q.No: 30

Assertion: (A) Jug shaped traps for catching insects
are called pitcher plant.

Reason: (R)They feed on animals hence are said to
be as carnivores.

= fFfifed vy 3 & o § R S ue 3 eifimy 3R IR &) "SR & &0 § A9 far gl
| MUY S S B! B FEUFIGES o B § SIR 3T U Rwed # 3 vy &1 9 W g B

SfiBYT: (T) PIE! B Tbea & RIT ST & 3R & ST P! =R wie g1 ol 1
| PRU: (R) T IHERT B @ § TR 32 WORR Hgl o 31

A only (A) is true Fae (T) TA T

B only (R) is true Fqd (3R) TA 7

(¢ Both (A) and (R) are corfgh ‘aﬁﬁ (T) 3R (3AR) &I &1
D (R) is the correct reason behind the assertion. (3[R) T-Iﬁ PRI %I

Q.No: 31 ‘ Which amongst the following is not a phyla of the plant kingdom?

A Chlorophyta
B ‘ Pteridophyte
C ;yophyta

D Thallophyte

Q.No: 32 Light yearsis the unitof ____.
A Sound

B Temperature

C Distance

D Light

Fraffad & § SF-a1 urey oTd Bl 99 e 82
FARIBIZET
RSwIEE
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Name the colour of flame that has the most oxygen and gets

Q:No: 33| [ lete combustion, AT & B T T AW S o T oifie sifefio St ¥ o ol agA S 21
A White part Hipg URT
B Yellow ram
c Blue EiGH
D Black Eai)
Q.No: 34 Which of the following gas is used in vehicles? fofefRa s Eaek:ikr) EﬂB?ﬁ T T ot Grl'rﬁ%?
A PNG dgsit
B 'LPG Tadsh y N
C TNT e
D CNG et
Q.No: 35 What is the SI unit of electric current? ﬁ?:g?r YRT PT SI AHAD AT %?
A Kelvin (K) Hie T (&)
B Kilogram (Kg) forama (foa)
c Ampere (A) @R ()
D Candela (cd) Haar (W)
Mathew told his friend Sham, pointing to a photograph “Her father is 1?{2213{ 3R GRA M & TF TER B 3R mmﬁgt{w,
Q-Na: 36 the only son of my mother.” The photograph is of whom? ) "I O B AT T SHT 92T g 1" el gt 87
A Mathew’s daughter g &t &
B Mathew's sister ey Y w8
c Mathew’s mother - T Y T
D Mathew’s niece Vﬁﬁqﬁﬁ yefieft

Q.No: 37

o 0O W »

Q.No: 38

The given question has a main statement followed by four statements.

Choose the ordered pair of statements, where the first statement implies | 2T T8 w3 & 57 HU IR ITP 91 IR HUF &1 HUAT BT DRI T T4, 81 Ugd

the second, and the two statements are logically consistent with the
main statement.

The fish is either in the aquarium or in the pond
A. The fish is in the aquarium

B. The fish is not in the aquarium

C. The fish is in the pond

‘ D. The fish is not in the pond

AC

DA

'BD

AB

Select the letter-cluster that can replace the question mark (?) in the
following series.

BXRJ, DVTK, FTVL, HRXM, ?
NPOQ
JPZN
MOPQ

DY BT T g DY I B, 3R & By Aiide U g $UF I §
el @ o U iam & a7 arae § §

A, AT THRE A B

B. T THRaW 781 ©

C. el N A 7

D. "ol e & T8 3

AC
DA
BD
AB

Frafafea Jear & 39 sieR-THg &1 997 o W uy fg (?) & ufawiita #7
Tl Bl

BXRJ, DVTK, FTVL, HRXM, ?
NPOQ
JPZN
MOPQ
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Q.No: 39

o 0 w >

Q.No: 40

OPQR

Given question has main statement followed by four statements. Choose
the ordered pair of statements, where the first statement implies the
second, and the two statements are logically consistent with the main
statement.

The expenses will be reimbursed by either the government or the
agency

A. The expenses were reimbursed by the government
B. The expenses were not reimbursed by the government
C. The expenses were reimbursed by the agency

D. The expenses were not reimbursed by the agency
DA
BD
CA
AB

Choose the correct mirror image of this combination- INPU879T.

UIoUeNET
IneY8TuU
1eYBUGNT
TeVaUIMI

I WY W Yd A TufRI oo B 7 gt {1 31 Y: TR oot TET B ST Wb

Select the lettered pair that has the same relationship as given in the
question:

OPQR

T MU Y ¥ T B IR IGF TG TR HUA &1 BYAT B Bt TH A, el Tge
PUT BT Al g BU J B, 3R &1 Sy difhe U I GBI YT I T 7

Tt @t ufagfd WeR 1 oIkt gRT Bt S
A. TSR GR1 T &I Ufayfe ot 75

B. &R gRI T 1 vfagff 78t ot 78 &t

C. T o1 ylagfd gordt gr 3t 7 o
D. Toieh §RT &4 ® ARt T8 3t TS

DA
‘ BD
CA

‘AB

Y TS B ge! gUUr Bf3 gA- INPUS79T
MiouessT
I11exgTau

1eYBUINT
TOvSTWVI

|3 S1eR T BT 99 B Rt Say uy H fou T wHe ey 9 §:

Q.No: 41 N
Cool : Cold oFT 3

A Gold : Bourne [T

B Length : Width g : ST

C Plant : Tree e : ﬁg

D Pretty : Beautiful STHYD : Ga3

No: 42 W is the sister of A’s father. A is the son of P. But P is not the mother of W, A & forar GﬁW%l A, P I 115{%| Qe P, A P ART Ttﬁ'%l W,

Q:-No: 42 1 Hiow W is related to P? P g THR Taft 27

A wife et

B Sister a8

C Daughter EE|

D Brother uIg
In the following question, a series of letters is given. Some letters have PR ; g ! ; :
been removed in these series, and they are in the options given below % N gg;ﬁ%ﬂ ﬁmw@; ﬁ%ﬁﬁ;@ﬁg{“ﬁgﬁ :ﬁngi'ﬁr‘qq
the series in the same order as they should be. Study the given series ! e . ; ) h )
carefully out of the four alternatives given below, and find the one that E:ﬂm?a‘e' R ﬁﬁgﬁﬂ’i}j 3 il an = PR J %@tﬁ el &

Q-No: 43| pact fits in place of the missing letter of the series. g
a_bb_caazh_ kot aaad a__bb__caaab__bcc__aaaa

A acch acch
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B acbb acbb
acbc acbc
D abcc abcc
No: 44 Nayan is the son of Ravi. Ravi and Tarun are brothers. Rima is the wife T 3 BT el %I M @R T ‘HTaF%l 07 qour B Ut SR A ) wi %I
Q.No: of Tarun and mother of Naina. How is Ravi related to Naina? Tfa, 1 ¥ 59 yeR i g7
A Uncle rar
B Son hel
C Daughter ‘ﬁﬁ
D Father foram
Nos 45 Vishal is the brother of Divya and Divya is sister of Ankit. Ankit is fammer, feear o1 Wi & SR faem siferd @1 w8 §1 Sifdra Tt &1 Wi 31
Q.No: brother of Fenny. How is Fenny related to Vishal? P, fowmer A fva veR deft g2
A Sister CaEl
B Brother or Sister 'H'Iﬁ 1 98+
C Brother s
D Father o
Select the option that is related to the third word in the same way as the 3% fadhed &1 =0 B3 o T Usg T I THR JaRd § O GO TH Ugd H I
Q.No: 46 second pair is related to the first pair. T 31
Japan : Country :: Asia : ? S ¢ S WRET: ?
A State Ry
B Hill- Station e w=m
C Continent TEE
D Ocean TERER
Q.No: 47 Choose the correct mirror image of this combination- GB89JH. T Yo 3 et guur 3R gH- GBBIIH
A doeslH doe8lH
B IH8eDa (HgeDa
C Hieg8o Hie88D
D od8eHL o88eHL
Q.No: 48 Choose the correct mirror image of this combination- CDE. = e it 9d gdur 8f g4- CDE
A a2 3a>
B 203 303
c ‘330 23d
SN
D a3ad a3an
Select the correct mirror image of the given figure when the e Ry 7 T T BfY P T R o o Y R 2 a1 iR =g far S 21
mirror is placed to the right of the figure.
Q.No: 49
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S & <2

" 5
.
B
Cc i?;
i é
he L ir that has th ionshi i i . .. . ..
Select the Lettered pair that has the same relationship as given in the EHB{&RWWWHQWWHH&['&%QWWWH@%:

question:
Q.No: 50
Balance : Weigh L e
A Aeroplane : Height Eil'lg\_ﬁﬁ[ : E}Tzl%i
B Television : Picture Felifaw : fom
c Satellite : Revolution JUTE : Wil
D Radar : Detection ISR : fEea=m
Q.No: 51 ;;‘:;’;5;:;;;;?;2::;;‘;Emage of this combinations 5 Yo T aior oY 93 BIHIFYVFDFI794661EWSD
A AW 1LY TIATY Y HUTLE 7 AW 1LV TIATV Y HUIIE
B eIkt THATVYIIHIA W1 etHATVYTIIHIE
C dewWH ket HaIVYIliHg d2WH LTIV Y IIHE
D AW 10okeT ATV YHIHEL 2@ 3 120keT 1TV YITHEL
Select the option that is related to the third word in the same way as the |39 fdded &1 T0 B f AR Wed ¥ ST YHR el § o QORI g Ugd g 9
Q.No: 52 second pair is related to the first pair. et %l
Rabies : Dog :: Ebola : ? W:gﬁﬂ:: sTSﬁET:?
A Fish LEL
B ‘ Cati A foeht
C Bat THIGS
D Mosquito B
Binku is brother of Dinku. Dinku is sister of Pinku. Pinku is brother of i, &g o1 Uk 71 &% g ot 9571 31 iy, R &1 g 71
Q-1a 53 Rinku. How is Rinku related to Binku? g, ﬁf@{ﬁmwm%ﬁ?
A Brother or Sister 'H'Iﬁ q1 98+
B Data inadequate e v
Cc Sister ggq
D Brother ui
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Q.No: 54

o 0o w r

Q.No: 55

o 0 W >

Q.No: 56

o 0 w r

Given question has main statement followed by four statements. Choose
the ordered pair of statements, where the first statement implies the
second, and the two statements are logically consistent with the main
statement.

The animals must be either in cage or in zoo
A. The animals are in cage

B. The animals are not in cage

C. The animals are in zoo

D. The animals are not in zoo

AB

DA

CA

BD

In the following question, a series of letters is given. Some letters have
been removed in these series, and they are in the options given below
the series in the same order as they should be. Study the given series
carefully out of the four alternatives given below, and find the one that
best fits in place of the missing letter of the series.

aba__baca__ba__bacaabac__aca
ccab
babc
cachb

cabc

There are 50 students in the final examination of class IX and 14% failed.
Find the number of students who passed.

40
43
45
a2

I W W g F 3R I BT S GH! 21 36 T AR ool T A o W

What will come in place of question mark (?) in the following
expression?

T 7T Uy F goT HU 3R IUD 91 IR HYF &1 DYl BT B TIH A, S8 ugd
HY BT A G FUT Y 8, AR & By Aifhsd TU § T HY Y WA 3

SRt ot 47 o fiieR 7 a1 fafsamer & g afge
A. MR R § §

B. SR RioR & ¢ &

C. SR fafgamr & §

D. SR fafgameR & =81 §

AB
DA
CA
BD

Frafefed vy & seRt ot T goe @ E §1 9 Seensh § oo iR gel Ry
g, R I e & - Ry U R § 5t va § § 99 3% 8 iyl 9 R
T TR fasedt & § & S e 1 AFgEE srerae B8 SR 4T & g 3eRl F
M R 9% [ddhed T o vad 39gad gl

aba__baca__ba_ bacaabac__aca

ccab
babc
cach

cabc

FeET IX Bt 3ifew wden & 50 B § SR 14% igeivl €1 7Y Il g9 ard
foRnfidt @t Sem 31 il

a0

a3

45

42

Fafafed oive § oy {F (?) & ®F W w1 3me?

.No: 57
: 70% of 1880+84% of 1100-56% of 675 = ? 1880 170 % + 1100 PT84 % - 6753156 % = ?
A 1862 1862
B 1858 1858
C 1865 1865
D 11860 1860
Q.No: 58 If Priyanka got 96% marks in class 12th. If this score is 480, then what mﬁnma#r 1201 He § 96% i Brat §1 3fg 77 siw 480 &, @ udlen F ot
is the total number of marks in the exam? o o/ &2
A 600 600
B 500 500
C 490 490
D 550 550
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There are 27.5 Lakh male and 35 Lakh female candidates are studying in
University T. If the total number of males in University T increases by

i T & 27.5 9/ 79 3R 35 TG AWl SHiledR Ug @ Bl Il

Q.No: 59 _ faufaamaa T & 739 B g G&m § 50% &) gfS B B, 9 39 Ayl § o
tS;)g/eot,hv;/:l)aith\:E:Itdut:aivt:resggaI number of students (males and females (W ahn%m&ﬁﬁﬁam) & %H'@Tm‘ﬁ?ﬁ?
A 76250000 76250000
B 75260000 75260000
C 7625000 7625000
D 7526000 7526000
SBI lent Rs. 1331 lakh to the TATA group at
Q.No: 60 compound interest and got Rs. 1728 lakh after 3 THes ¥ TATA U aﬁaﬂ@ S R 1331 6 09 IR U 3R 3 a6 & 915 1728 G ¥0d U fodl|
yr. What is the rate of interest charged, if Thdfe oI DI X T Y, T AP &Y T S H IVFET &1 STt 82
compounded annually?
A 8.33% 8.33%
B 12% 12%
C 9.09% 9.09%
D 11% 11%
If the selling price of an article is 3 times its cost price. The profit is how T [l a%g &1 fdshy Y ¥ AN Hed &I 3 AT B @Y, AT T F1 fpa
Q.No: 61 many times the cost price? T %?
A 6 times CRIGIE
B 3 times 37117:1 y
C 2 times 27
D 1 times 17
O.No: 62 Ravi bought a shoe of Rs 2000 and sold this for Rs 1800. Find the 3fd ¥ 2000 T4 T T SET T AR T 1800 0 o 99 feam
profit or loss and percentage of profit or loss. IR S SR Ay T B &7 U U 09 B
A Rs. 200 & 20% : 7 | 200 ¥93 3R 20%
B Rs.200 & 10% 200 399 3R 10%
C Rs.100 & 10% 100 ¥R R 10%
D Rs.100 & 20% o 100 T 3R 20%
Q.No: 63 Ir—|el-lpna?iar;’:;] .b;lfy;eav:::z ic;rgzsinzgop?f:f-ilte;fpf;.dssti iioe(t)e?n:i:z for IR 2000 ¥ T 5 W %l T T m“ 200 37 T FA %.I
how much he must sell the radio? R T 12.5% BT A T A et 2, W el B o S AW 1 ot & e e
A Rs 2475 2475 7@
B |Rs 2625 2625 0
C 'Rs 2025 a 2025 ¥
D ‘Rs 2250 2250 U

Q.No: 64

o o w >

A man travels equal distances of his journey at 40 km/hr, 30 km/hr and
15 km/hr respectively. Find his average speed (in kmph) for whole
journey.

28
24
25
27

T et ouf A Bt uHA gl BAS: 40 fbe/der, 30 /e 3R 15 ey
HeT Bt Y F 7 e 71 I A & o Suet eiwa iy (el uf 52 #) I
Fiforal

28
24
25
27
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You've selected a book that has 500 pages. If you've read 250 pages,

31 U Ut gdes @1 e i & Frd 500 g €1 Al e 250 g9 UR €, A

Q.No: 65 ot percent have you read? 3T fopae ufaerd ugr 82
A 50% 50%
B 250% 250%
C 5% 5%
D 500% 500%
. By mistake, the e trchanges he gt of ane number. Dus to | 5% 41 9112 10 e o] & o o o v 1 e 3, <
Q:No 66 th?s t‘heyaverage I;ecomes 2.7 less t?han the O?iginal average WI:\at will bulikehd @r@;ﬁ ¥ e & R ‘ kS ¥2.779
. . X . o ) 5
be the difference of the two digits of that particular number? & ST 81 5% & R ST T SR TS
A 1 1
B 4 a
C 3 3
D 2 2

FH Y TR Yd | ARy gof B o gH 21 S T S gl gt B S wdai

Q.No: 67

o 0O w r

A man saves Rs 1000 of his annual income at the end of a particular year
and lends the money at 10% annual compound interest. How much the
amount will become at the end of 3 years?

Rs. 3721
Rs. 3542
Rs. 3641
Rs. 1331

FH WY TR YD § Al oo B o B B 3 T Safy ool A8t T S "

Q.No: 68

o N w >

Q.No: 69

o 0O w >

Q.No: 70

o O W r

A sum borrowed at compound interest rate of
12% per annum is paid in two annual

installments of Rs. 13328 each. Accordingly, ?ﬁ&'@ﬁﬁ T B
what was the principal?

23520 Rs. 23520 ¥
22525 Rs. 22525 U
26656 Rs. 26656 ¥UI
25175 Rs. b U 25175 304

What will be the compound interest on Rs.8300 in two years when rate
of interest is 2% per annum?

Rani purchased a car for Rs. 250000 and sold it for Rs. 348000. What is
the percent profit on the car?

40
38
38.4

39.2

% AeH! Uw faRy af & 3fd T U a1ftics 31T &7 1000 S0 ST & 3R 10%
I Tepqfe =aTel IR O IUR a1 81 3 99 F ofd # i fovar g1 s

Rs. 3721

Rs. 3542

Rs. 3641
Rs. 1331

g 12% Uit a8 T T g TN <R W SR T T8 AR BT YW 13328 303 F & Iiffe el & fear S g1

& guf 7 8300 TUA W Ishgls SIS FT ST o1 ST &R 2% Wfay 82

\ Rs.382.61 Rs.382.61
© Rs.142.31 N Rs.142.31
Rs.335.32 Rs.335.32
Rs.487.18 Rs.487.18

T T TP PR 250000 TUH F @ 3R I 348000 T F 99 e FR W
AT T BT I T 87

40
38
38.4

39.2
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Which of the following will come in the place of question mark? Fafafed & 9 o uyams o & ®H W smame?

Q.No: 71

a_b_a_a_ bba_a_bbbb a_b_a_a_ b ba_a_bbbb
A abbabb abbabb
B aabbba aabbba
C bababa bababa
D ababaa ababaa

Find the missing term. JW Ug J1d it

824 851 786 824 951 786
Q.No: 72
2 c | F ? C|F
412 317 131 412 317 131
A A A
B B B
C (o C
D D D
31 G3N @ U Uit H X 91
. In arow of 31 men, X is 19% from left end and Y is 17 from right end. Then find how many mens are ®R ¥ 1991 & iR Y IW SR &

Q.No: 73 = B % a ﬁﬁ'ﬂ:{ ¥

between X and Y? 17areldlq1d X

AR Y F & fPar I §?

A 5 5
B 7 7
C 3 3
D 9 9

Which of the following will come in the place of question mark? Frofafad & @ @ wEee e % RE W e ?
Q.No: 74

ba-b-aabb-a--a-b ba-b-aabb-a--a-b
A ababba ababba
B bababa bababa
C ababab ababab
D bbaabb bbaabb

|In the question given below, some statements are given followed by few

conclusions. You have to consider the statements to be true even they | = T T Uy &, $& HUA 3R I 918 $© Fwpy T T §l Sus! HYHi B
seem to be at variance from commonly known facts. You have to decide | T AT €, ¥d &1 § IHAMIG: F1d aedi F e ueiia 2 21 3Mue! 98 og &3 ©
which of the given conclusions, if any follow from the given statements. f& ﬁq M freeaf § 9 ﬁ:ﬂﬂ, afg Tﬁé Eﬂ, %Q RIS Sl BT SIERUT HCAT %I

DY

it ofdal @gM
Q.No: 75 All clocks are rocks. ﬁ'ﬁ’m% ez T T 2

No calendar is a mock.

Statements:

T °fal Bais 8
Some clocks are calendars. Prep:
Conclusions: 1 B o ) T T 2
I. No clock is a mock. - Wﬂsﬁmél

II. Some rocks are clock.
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A both conclusion I and II follow foreed 1 3R 11 @Y SR B &
B either conclusion I or II follows a7 at fsepd 1 a1 11 S{HRIT HIAT %I
C only conclusions II follows Faa ey 11 SR Rl ?

D only conclusion I follows Faq freed 1 SR Bl %

No 76 Just s il of M and . e how many stucnts are thare |1 % ST 53T R 81 N oY § 5 2 1 R T
Q.No: 76 ' ' Y M & 915 A3 R IR 27U M SR N F 3o mer & 2, o e & frad om 2

the class?
A 31 31
B 29 29
C 30 30
D 32 32
Q.No: 77 1fX = 48 and ACT = 48, then TALL=____, g X = 48 §MRACT =48], M TALL=____ gl
A 45 45
B 92 92 :
C 90 90
D 88 88

IR UY WY | AMAfRy oo Bt o g F1 30 T URT gof At BT A1 FH

In the question below, there are few statements followed by
few conclusions. You have to take the given statements to be true even Eic) ﬁq T g ﬁ, EE) Bl B die S ﬁﬂﬁb’ﬂcﬁq M %I Kol chQ T BYT DY

if they seem to be at variance with commonly known facts and then | I AT §, S § 3 I d gt @ i el g ok iR ol o i fRw
decide which of the given conclusion logically follow(s) from the given =l & ¥ & 1 AT 71T ot &1 A T Y 3FIRT Bl ¢
statements.
DY:
Statements: " : -
ol g, = T T

All drops are not decrease.

Q.No: 78 ¥ . e 21
Some decrease are replace. Tt wferenfta, &/ B

frrep:

1. 3 gg, vRwifd & 21

1L ¥t §g, fnfid § |

All replace are decline.
Conclusions:
I. Some drop are not replace.

I1. All drop are replace.

A Only conclusion II follows Faa frepd 11 eraRor Far @
B Neither conclusion I nor II follows Tt freed 19§ 11 SERT FRar §
c Either conclusion I or II follows a1 &t freed 1 a7 1T SERT Fear §
D Only conclusion I follows Faa fFrepd 1 gaRer FRar @
If in a certain language, EXAMPLE is coded as of f :

) : i FT uTw H,
Q-No: 7§ E‘:]V;UL;ZE’ PPw will ELECTION he coded in that EXAMPLE %! DWZLOKD U & geag fam 1 3, f 3t 1o & ELECTION &1 3 geag v Sem?
A DKDBSHNM DKDBSHNM
B DKDBSJIHM DKDBSJHM
C DKEBSHNM DKEBSHNM
D EKDBSHNM EKDBSHNM

Q.No: 80 Janvi rank is 18th from th.e top and 23 from the bottom in a class. How B i S 9 3 N A 184 SR A D 23aﬁ'%| e 3 fra o1 22
many students are there in the class?

A 38 38
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42
35

If ‘blue’ is called ‘red’, ‘red’ is called ‘green’, ‘green’ is called

Q-No: 81 ‘black’ is called ‘white’ then what is the colour of ‘grass’?
A Green

B White

C Black

D Red

Q.No: 82

A 10th

B 12th

C 13th

D 16th

40
42
35

‘black’ and | Tfe ey &) ‘W BN Wl B, ‘WA D) G’ YT Ol €, ‘T B ‘DAl Byl Al §

IR BIA BN Fha HE AT § a TRH] T 7 I 2
0
e
Casl
iG]

In a row of 25 students, A is 13% from right end. Then find the rank of A from left end. 125 BT P T U A I BR T 133 AR 3

‘ W BR T A F ¥ 9 Biw?
10&t
12dF
13
164

I U W qd A Uiy gof B gt B1 3 YA: Smuf gt AE) BT S Wb ‘
Q.No: 83 If EAGER is coded as 51759 then how will CADET be coded? & EAGER &I 51759 & wU ¥ Heds o1 Wil § @ CADET & {59 0 & G far smem?

A 31450
B 34157
C 31457
D 31547

31450
34157
31457

31547

Find the missing term. q&ruﬁmaﬂﬁm
Q.No: 84
A 144 144
B 128 128
(o 189 189
D 180 180
Find the missing term. Wl g [d BiferT]
11 33 11 33
Q.No: 85 o o
3 3
? | 99 7?1 99
A 279 279
299 299
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Q.No: 86

o 0 w >

Q.No: 87

g N0 w

Q.No: 88

A

B
C
D

Q.No: 89

g0 w >

Q.No: 90

o 0 w >

Q.No: 91

g 0 w r

1227
297

The least number which when divided by 5, 6 and 7 leaves remainder 1,
2 and 3 respectively is:

206
420
214
210

Which of the following is divisible by 9?
285939
714622
789122
681231

I WY W qd § Ul oot @1 &1 gt 31 31 Y: MU ot gl BT 1wt

Amit was born 5 years before Rakesh. Rakesh is 3 years younger to

Anil. If Amit is now 17 years old, how old is Anil(in years)?
19

12

8

15

Ten years ago, the age of Anand was one-third the age of Bala at that
time. The present age of Bala is 12 years more than the present age of
Anand. Find the present age of Anand. (in years)

16
20
18
14

What value would come in place of the question mark (?) in the following
equation?

(39)%-(24)2= ? % of 1800

58.50
162,50

52.50
|42.25

Simplify:

(81)* = (9)° =2
81

9

729
6561

227
297

I8 < T o1 gl R 5, 6 9k 7 I i o R 2w
PUM: 1, 2 3R 3 TEAT8?

206
420
214
210

fafied 8 4 o 9 3 faursg &2
285939
714622
789122
681231

mMQSHmmﬁﬂﬁawamgmmnﬁ%a®ﬂ®3ﬁ@m%mﬁ‘
Siftfe 819 17 9 BI Q, A oFet 1 3y e g(awl #)?

19
12
8

15

= Y USQ, ST B IR 39 THY A1 B 1Y B U fags N o1en &1 Iqam
R SfE B T 31 ¥ 12 Y i 1 MG B aHM ST T0d Biferg | (a6t
)
16
20
18

14

e T & yyaas fog (7) & ®F R &1 99 31em?
(39)% (24)*= 1800 7 %

58.50
62.50
52.50
42.25

P B

(81)* - (9% =7
81

9

729
6561
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I WY R qd § iy oot B 1 gt 21 31T T: AR gt ISl I W wbaA

What will come in place of the question mark in the following question?

Frafatea vy § uy fg & _M W A1 e

Q.No: 92 )
(0.04)* + (0.008) x (0.2)* = (0.2)° (0.04)% + (0.008) x (0.2)¢ = (0.2)?
A 7 7
B 6 6
C 8 8
D 5 5
Q.No: 93 Find the largest fraction of the following fractions? fafafe e & 9 ged o<t i 3ma Fikme?
41 41
A 76 76
52 52
B a7 a7
4 4
C 5 9
111 111
D — =4
120 190
Find the largest number of two digit, which divides 211 and 396 giving @l 3/l B 98 o] I TSI TG T N, RdT 211 3R 396 & YT 3 R Yl
Q.No: 94 ] .
the same remainder? fRify & w9 v e gidr g2
A 21 21
B 37 37
C 185 185
D 43 43
Q.No: 95 | Check which number is divisible by 18. P T T 18 ¥ U 71
A 73522 73522
B 64432 64432
C 93636 93636
D 55354 55354
o S e o0 e T 75,5 S o 0 30 e o 08 1200
Q.No: 96 walk in th:e same direction whzn will tlz;; 1st ;e to etherg ain at the & IR SR %;I R 9w T %Wﬁ%ﬁ?@‘s"rﬁ’mﬁ
" y 4 g : ¥, 3 3 veeht IR R & IR g W 9 TE @ B
‘startlng point.
A 180 180
B 160 60
c ‘90 90
D 120 120
Q.No: 97 | Which of the following is divisible by 7?2 foffed 3 4 o1 7 § vy 82
A 9543 9543
B 8768 8768
c 6543 6543
D 14287 14287
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The sum of the ages of five children born at the intervals of 3 years each, | auf & faRTa § S 5 S<al BI 3 B HA TN 50 I ¢ T4 BIe T

Q:No: 98 is 50 yrs. What is the age of the youngest child? BT oG grft?
A 6 6
B 3 3
c 4 4
D 5 :

The area of a square park is the same as of rectangular park. If the side | U FHR Ul BT & AADR U & Shd & A 3| afe TR Ueh Bt
Q.No: 99 of the square park is 80m and the length of the rectangular park is 100 | Yo 80 T $iR SRIAIHR U F T&TE 100 T §1 SIAER U Bt AT I

m. Find the breadth of the rectangular park. FifTl

A 63 63

B 64 64

Cc 32 32

D 96 926

© MPESB. All rights reserved
Q.No: 100 The ratio of length and breadth of a rectangle is 5 : 2 and the L'ca W'q’ﬁﬁa’lﬁ BﬁTEﬁ%’T&FW Ul 5: 2 % 3R ufmY 70 ‘@ﬂff%l
perimeter is 70 cm. What is the area of the rectangle? T BT &AHd T 87

A 250 sq cm. 250 aif Qi

B 150 sq cm. 150 o3 9t

Cc 200 sq cm. 200 9 At

D 400 sq cm. 400 9 T
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